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Direction : (Q.N. 1-5) : Consider the following .
table that shows the percentage (%) distribution of What is the average number of male workforce

workforce of India and ratio of male to female in all the sectors put together? (rounded-off to
workforce of India in different employment sectors two decimal places)

during a given year. Total workforce in all the sectors waft a}—,ﬁ- CARRE [GIG T Ty FHaeT & 3

put together is 80 lakhs. Based on the data contained ) .
in the table, answer the question : HEAT T §2 ( SYTHAT o 2T 37kl deh )

Sector-wise Distribution of Workforce of India (a) 6.39 lakhs/6.39 @M@

Employment Workforce of India (b) 4.69 lakhs /4.69 @1

Sector
Percentage Ratio of (c) 5.96 lakhs /5.96 @@
% Male of
g)islribution Female (d) 7.48 lakhs /7.48 oT8
(M:F)
Service (SE) 15% 3:1
Sales (SA) 12% 5:3
Construction and | 9% 5:4

Maintenance (M)

Professional (PR) 18% Nz7
Management (MA) | 21% 3:4
Production and | 19% 5:3

Transport (PT)
Others (OT) 6% - -

th




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 3l
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% Nz7
Management (MA) | 21% 3:4
Production and | 19% 5:3
Transport (PT)
Others (OT) 6% 35N

Ans. (c) : fafyrs &= § gey Hdas &t de-

ar a7 § =80,00,000x%x% — 7.20.000

g | =80,00,000x£x§=6,00,000
100 8

famfor 3iR srgeoT § =80,00,000x%x%=4,00,000

TR &9 ° =80,00,000><%><% = 6.00.000

yayT &9 H =80,00,000><12T1)><% = 7.20.000
IagreT 3R uftgea &3 o

= 80,00,000x£><§ =9,50,000
100 8

I T o =80,00,000xix§:1,80,000
100 8 )
FA IEY FHEATA = 41,70,000 RS I
5“ 35 [ <Pl iiIEI El'?f 3ﬁE|“ e Easy Notes 4u l -
Online Study k& -
_41,70,000 _ 59571428 § %

AIMTHIT 5.96 <G




Direction : (Q.N. 1-5) : Consider the following The number of female workforce in SE and PR

table that shows the percentage (%) distribution of | S€ctors put together is what percent of the
workforce of India and ratio of male to female number of the male workforce in CM sector?

workforce of India in different employment sectors e -S: afir ot amw Q’ﬂ} o wrEd uiter s

during a given year. Total workforce in all the sectors )
put together is 80 lakhs. Based on the data contained | ht el WEAT Ul UH &1 | &Eld UeW drdadl

in the table, answer the question : 25
HeEt ot feRaaT gfaera g2
Sector-wise Distribution of Workforce of India %

Empl Workf f Indi i) Bals

S;rclﬁ)?yment orkiorce of India (b) 318%
Percentage Ratio of (c) 320%
(%) Male of (d) 80%
Distribution Female

(M:F)

Service (SE) 15% . G g

Sales (SA) 12% 5:3

Construction and | 9% 5:4

Maintenance (M)

Professional (PR) 18% 5:7

Management (MA) | 21% 3:4

Production and | 19% 533

Transport (PT)

Others (OT) 6% B4




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 12
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% 5:7
Management (MA) | 21% 3:4
Production and | 19% 533
Transport (PT)
Others (OT) 6% B4

The number of female workforce in SE and PR
sectors put together is what percent of the
number of the male workforce in CM sector?

T g 3 o 3 & W e e @dad
& Hel &I H UH & T HEd G wraac

St W& ST femaar gfagra 872
(a) 330%
(b) 318%
Ans. (a) :
15 28000000
U g g3 ¥ wleensti & 9= = 190 5
— 480000
18 7 %8000000
dt. 3R WX § Afgensii & & = 100 12
— 840000
22 x8000048
dium Gaet # gEdi @ q@n = 100 9 :
— 400000
srede s = 1220000 100 = 330%

400,000




Direction : (Q.N. 1-5) : Consider the following The number of male workforce in SA and MA

table that shows the percentage (%) distribution of | Sectors put together is approximately .What
workforce of India and ratio of male to female| percent of the total number of workforce in PT
workforce of India in different employment sectors sector?

during a given year. Total workforce in all the sectors TE T 3;“-{- TN T a};ﬁ- -a- B'Tl'd'l?f W a;nf:a?.r &

put together is 80 lakhs. Based on the data contained

in the table, answer the question : el @ ut 2 é’ﬂ' 0 hrald wradael i et
Sector-wise Distribution of Workforce of India T T AT fehaar 'ﬂﬁ'l'?l?l' %’J
Employment Workforce of India (a) 82% (b) 87%
Sector (c) 89% (d) 85%
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% D7
Management (MA) | 21% 3:4
Production and | 19% 323
Transport (PT)
Othel;s (OT) 6% 38




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% D7
Management (MA) | 21% 3:4
Production and | 19% 323
Transport (PT)
Othel;s (0OT) 6% F:H

The number of male workforce in SA and MA
sectors put together is approximately what
percent of the total number of workforce in PT
sector?

UH U 37 U0 U & 0w YRS draa il
ol wen ot 2 & § wrEiE weae d el

AT T THT fehaaT uferora &2
(a) 82% (b) 87%
(c) 89% (d) 85%
Ans. (b) :
TH T 49§ F 6 = Ex g +8000000 = 600000
3

UH T Hael § FHdl TN =—x7x8000000 720000

di &t T | a1 FHaA = T>.<(8000000) =1520000

(600000 + 720000)
1520000

_ 1320000 1 00 = 86.8% =
1520000

3nfiE gfaea = x 100

87%




Direction : (Q.N. 1-5) : Consider the following The difference in the number of female

table that shows the percentage (%) distribution of workforce in SA and MA sectors put together
workforce of In(.lla. an(.l ratio of male to female and the number of female workforce in PT
workforce of India in different employment sectors sector is :
during a given year. Total workforce in all the sectors ' -
put together is 80 lakhs. Based on the data contained Lt 3 wmu &}5} o tlfgﬁT Frdae al
in the table, answer the question : W- : m m
Sector-wise Distribution of Workforce of India § 3ﬂT tﬁ f[ a}? ﬁ
TS ot T & 3T fehaT 7
Employment Workforce of India
Sector (a) 5.1 lakhs/5.1 @ (b) 7.5 lakhs /7.5 @@
Percentage Ratio  of (c) 5.7 lakhs /5.7@@  (d) 13.2 lakhs/13.2 @@
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 332
Sales (SA) 12% B3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% 527
Management (MA) | 21% 3:4
Production and | 19% 333
Transport (PT)
Others (OT) 6% -




The difference in the number of femalf;

Direction : (Q.N. 1-5) : Consider the following workforce in SA and MA sectors put together

table that shows the percentage (%) distribution of and the number of female workforce in PT
workforce of India and ratio of male to female soctor is *

workforce of India in different employment sectors s
during a given year. Total workforce in all the sectors T aﬂT LU a}’ﬁ o m m W Eal

put together is 80 lakhs. Based on the data contained Iyl e Ar i & &‘13[ T &HrEd afger
in the table, answer the question : FHTaAT i WE&T HT 27497 fehaar -g-?

Sector-wise Distribution of Workforce of India (a) 5.1 lakhs/5.1 @@ (b) 7.5 lakhs /7.5 @@

Employment Workforce of India (c) 5.7 lakhs /5.7 @@  (d) 13.2 lakhs/13.2 @@
Sector _ : i
Percentage Ratio of Ans. (b) : TH T HFX | Wigemsil & He
(%) Male of 12 3
Distribution Female =100 A 3 x 8000000 = 360000
(M:F) fierytt Bl o o
Service (SE) 15% 3:2 SR j ) Sl 3 T
Sales (SA) 12% 5:3 _ ﬁ 2 x8000000 = 960000
Construction and | 9% 5:4 : ; .
Maintenance (M) gt Fae § wfgensii & @@
Professional (PR) 18% BT 19 3 2000000 = 570000
Management (MA) | 21% 3:4 1008 -
Production and | 19% 5:3 IE A (360000 + 960000) — 570000
Transport (F'T) = 1320000 -570000 = 750000

Others (OT) 6% 3:35 =7.594




What is the ratio of the number of female

Direction : (Q.N. 1-5) : Consider the following workforce in CM sector compared to the
table that shows the percentage (%) distribution of number of male workforce in PR and OT
workforce of India and ratio of male to female sectors put together?

workforce of India in different employment sectors ot L AT W HIATT WigAT Hhrdaed i W&

during a given year. Total workforce in all the sectors : -
put together is 80 lakhs. Based on the data contained Rt b A et W A0

in the table, answer the question : Hrdae BT HEAT vl AT 4t €?
Sector-wise Distribution of Workforce of India (a) 17:39 (b) 16:37
(c) 16:35 (d) 16:39
Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% 3:2
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% 527
Management (MA) | 21% 3:4
Production and | 19% 323
Transport (PT)
Othen;s (OT) 6% 318




Direction : (Q.N. 1-5) : Consider the following
table that shows the percentage (%) distribution of
workforce of India and ratio of male to female
workforce of India in different employment sectors
during a given year. Total workforce in all the sectors
put together is 80 lakhs. Based on the data contained
in the table, answer the question :

Sector-wise Distribution of Workforce of India

Employment Workforce of India
Sector
Percentage Ratio of
(%) Male of
Distribution Female
(M:F)
Service (SE) 15% J2:d
Sales (SA) 12% 5:3
Construction and | 9% 5:4
Maintenance (M)
Professional (PR) 18% 527
Management (MA) | 21% 3:4
Production and | 19% 333
Transport (PT)
Other\;s (0T) 6% -

What is the ratio of the number of female
workforce in CM sector compared to the
number of male workforce in PR and OT
sectors put together?

#t tn & W wrEa ufgen wrEder @ H@Emn
it dt o wd o ¥ &l W wrEa UEw
HTHEeT Y Thel HEAT i U o 87

(a) 17:39 (b) 16:37

(c) 16:35 (d) 16:39

Ans. (d\)I:
41 un "l # o #feansd i g9

. g « 8000000 = 320000

100
G AR G H FoI GEEl Sl HEA;
18 5

=——x—x 8000000 = 600000
100 12

3 27 TEe § gENl & 9
=6 38000000 = 180000
1008

3 agr df 3R & FA gEY = 600000 +18000(

= 780000
FATE 39| = 320000 : 780000

=16:39




[n which level of teaching, the main focus is
laid on capturing and systematic presentation
of ideas and information?

FA & fE W N e W fEm an

T TP & O e o

mﬁmmﬂm?

rb
[
d

2) Memory level/®fid &
Understanding level/ Y T

) Reflective level/Mdd

Autonomous development level
T (9 &




The following is a list of some basic teaching
competencies identified through various
researches on teaching. Which among of them
falll in the domain of behavioural
competencies?

frefeigs &9 aiward e e @
el g ﬁr% e waeft fafirsr omed &
mem ¥ fafga e e &1 3% 9w @
AR AT H YWATC ¢ I W @
$ITATY ST TR o Iaid ATl §7

(A) Self efficiency/3Teq- g7t ( WHEA )

(B) Planning/ frars=

(C) Locus of control/ Trar=ruT &t wikerfer

(D) Communicating/ T

(E) Flexibility/ Ta=tera

Choose the correct answer from the options
given below:

Frer for U fawen W W WE IW @ wEA

: A A
) Aand B/A3RB  (b) Band C/B 3R C
)

Dand E/B3RC  (d) Band D/B 3RD

(a
(C

r i J M Ewg
- | Ea syNotes4u l —
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The following is a list of some basic teaching
competencies identified through various
researches on teaching, Which among of them
fall. in the domain of behavioural
competencies?

frefeigs &9 aiward e e @
et # i s wadt fafm et &
mew @ fufga fear mn g1 3% 9w @
AR AT H YWATC ¢ I W @
$ITATY ST TR o Iaid ATl §7

(A) Self efficiency/3Teq- g7t ( WHEA )

(B) Planning/ frars=

(C) Locus of control/ Trarr @t wfterfar

(D) Communicating/ au

(E) Flexibility/ Sa=fraran

Choose the correct answer from the options
given below:

Frer fou v fawedt # ¥ WE ITW @ WA
: A A

a) Aand B/A3RB (b) Band C/B 3R C

(c) Dand E/B3RC  (d) Band D/ B 3R D

Ans. (d) : FERRE Frgar el ff sgaer fagmmsii 3R
Afthea @il & defifd & 2 o9 fF 39 3R FvE
e ot 38 fauifa @ § geEdar o< 9aar 2 f6 a8 5=
did & fou ades a @1 2 399 fohaar 9%a g 39
YR ARG qTgal Hder & el H Faryld Htar 2|
fodrsm Ud guNuT SAERE Aradr S & 9T 21




List I gives the methods of teaching in
Institutions of higher learning while List Il
provides the techniques of increasing
effectiveness of the method.

gt -1 |rg geit-11 &1 faem=s @it g=i-1
W Ioor IrfenTw weemstt # freror e faftan &
g E, Wafer geEit- 11 W ifinmm fafueat @t

wHTayiieTar s@ @i deh-tan of T i
List -1/5i-1 List- 1I/5=1-11
Methods of Techniques for
teaching/f¥mequT increasing
& faferi effectiveness/I9aeiterdr
FGH FH ddhAlD
(A) | Face of face (I Using Swayam and
interactive Moocs/ @Y 3R Had
method/ - FT TTT
qm &t
sfafsharas
fafer
(B) | Open and (IT) | Programmed
distance instructional packages/
learning Afuspiaa
method/ Hh T3
AR adf

sfery fafy

(C) | Individualized | (III) | Modular  nstructional
method of material /|  WiggeH
teaching/ w arft
freqor
dafera fafy

(D) [ Online (IV) | Reflective  questions
methods of coupled with
teaching/ discussion/ UfEEl &
fareqor & - femies v
Hieme fafy

et fou o foraeat o 9 W I @ WA it
(a) A-l, B-II, C-1II, D- IV

(b) A-IIL, B-IV, C-1, D- 11
(¢) A-IV, B-III, C-11, D- 1
(d) A-IL B-L, C- 1V, D-1I1

T ® =
Easy Notes 4u ! —
Online Study &
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Given below are two statements
T e fer g

Statement (I) : Achievement and aptitude tests
are designed to access the upper limits of the
examinees knowledge and abilities.

Statement (II) : Objective personality tests and
projective personality tests are designed to
measure  the typical  behaviour and
characteristic examinees.

®AT (1) : IUAter 3 rfvermar whent @
vfenfdat & 7 37 IR arwar it Fudr diw
& IMHEA HT & I Far fean s g1
& (1) :THE  fvhed e v yerdi
Afvhea wiieror whenfdat & fafide oegr @
T @ WY HA & FAT @ qAR Ry S €

IUATH T & erE §, Frr faw T fareme

0¥ ad IUYTh I T 99 R

(a) Both Statement (I) and Statement (II) are
correct/HIA (1) 3R (1) ST T E1

(b) Both Statement (I) and Statement (II) are
incorrect/sg4 (1) FR (IT) aHl Ted 2|

(c) Statement (I) i1s correct but Statement (II) 1s
incorrect/&44 (1) T&l % difed F99 I RIEG! %I

(d) Statement (I) is incorrect but Statement (II) is
correct/&hd- (I) TeId é, dfdd Hea (11) 9@t g




Given below are two statements
T e fer g

Statement (I) : Achievement and aptitude tests
are designed to access the upper limits of the
examinees knowledge and abilities.

Statement (II) : Objective personality tests and
projective personality tests are designed to
measure  the typical  behaviour and
characteristic examinees.

HIF (1) : IUcAreer 3T arfvermar wherm
yftenfiat & 7 3T IA gwar et Fudt
& Mo &1 & BT A fewan S 81
& (1) :THE  fvhed e v yerdi
At g whenfdat & fafde sraeEr
T @ WY HA & FAT @ qAR Ry S €

I HAT & I §, Her faw T Rt

" H HaH IUGTH I H FAT AT ;

(a) Both Statement (I) and Statement (II) are
correct/HIA (1) 3R (1) ST T E1

(b) Both Statement (I) and Statement (II) are
incorrect/FIA (1) 31X (1) 241 Terd &1

(c) Statement (I) i1s correct but Statement (II) 1s
incorrect/&44 (1) T&l 'E:' difed F99 I RIEG! gl

(d) Statement (I) is incorrect but Statement (II) is
correct/HIA (1) Tod @, WfehT Ha (11) TEl & |

Ans. (a) : 3TAf AR fiemar gdeoi 1 ghanfdar &
I AR IS GEAT FH FUG W F EHOA B F
gfea dar o sar 21 241 gdeor SEl & S9EeEs
Ud IEEY TR OH JH A &1 TE IO AFSiGd adl
FAFSIFA A FHR F ea1 @ IS Aftha gheon

sie st safea e W & PR o
qmmnmm%mﬁméﬁmﬁﬂsﬂﬁ%laa —‘—.'l

¥ T Ud AEER &1 I0gT e et § waill Rt
UESF =a0id ¢, & u &, tg u &, wifear 328 @ »
THE I 2 ) &




ot @ wom R ¥ uw e
(Assertion A) % ®U ﬁ ﬁlﬁﬁﬂ g qau I
@I (Reason R) & &Y W :

Assertion (A) : The purpose underlying

modern and ICT based support system in
teaching is to optimise learning outcomes.
Reasons (R) : An effective instructional support
system has to be linked with enhancement of
learning conditions.

afirerer (A) : freror & smegfaras i amg wf &
LR TETET YUTe! T fafge yaree stfenm
YRUTHT ST ZTAW a1 2

HUF (R) ; fordft worelt foveror wgrermT yomedt &t
e aRReft U & A wges f
T AR

In the light of the above statements, choose the
correct answer from the options given below

SUAITh HAF & ATl |, e fou o faeeat

o W WE I @ oA dirw

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3 (R) GEll
T4 &, 3 (R), (A) ¥ TE AR B

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3R (R) GE|
T g, W(R),(A)ﬁﬂﬁmqﬁél

(¢) (A)1s true but (R) 1s false
(A) T 2, 9IfFA (R) 379 21

(d) (A) 1s false but (R) 1s true
(A) 378 2, dfdd (R) 99 2|




ot @ wom R ¥ uw e
(Assertion A) % ®U ﬁ ﬁlﬁﬁﬂ g qau I
@I (Reason R) & &Y W :

Assertion (A) : The purpose underlying

modern and ICT based support system in
teaching is to optimise learning outcomes.

Reasons (R) : An effective instructional support
system has to be linked with enhancement of
learning conditions.

afirerer (A) : freror & smegfaras i amg wf &
LR TETET YUTe! T fafge yaree stfenm
YRUTHT ST ZTAW a1 2

HUF (R) ; fordft worelt foveror wgrermT yomedt &t
Sferm uRtfeaf # U % W daw e
T AR

In the light of the above statements, choose the
correct answer from the options given below

IUATh hAA oh ATeleh o, A= fau g fassear

H T T 397 T 9aT @S

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3 (R) CiG]]
T 8, 31T (R). (A) T T&l =TT 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3T (R) ar4i
g €, @feha (R), (A) I T s &1 2|

(c) (A) i1s true but (R) 1s false
(A) 99 2, dfeha (R) 319 2|

(d) (A) i1s false but (R) 1s true
(A) 378 2, dfehd (R) IF 2|

Ans. (a) : FomI0T § anyfas 3R o€ & & smarfia
TR YUTTelt &1 fAfed s 3ifenm oftomsi & geam
T 21 ICT # ea, dewie, 2ofiem, Fmpe anfe
gft snfear difear 3uawor g & S foem & yard
gad & @ siferm ofifefodi & gur @@ @ o
Mwamaéaaﬁ:ﬁm%@ﬁmmﬁuﬁl
AT HLT 2




Which  type of research encourages
partlclpant' &erspective?

v o glwnh-ofite @
ﬁmﬁﬁ&mwﬁ?
(a) Ethnographic method/JTdta ¥4
(b) Historical research/ﬁfﬁﬁ i Ty
(c) Exegetic research/eATHaIHS NI
(d) Experimental research/SaAMTeE I




Which type of research encourages

participant's grspectwe" -
o gfawnfr-ufige

fora &R
wreaTiea ferar T &2

(a) Ethnographic method/JSTd4 K1)
(b) Historical research/Bfagias v

(¢) Exegetic research/aAaMHATHS MY
(d) Experimental research/SaNTeHE I

Ans. (a) : JoAE 3T T a9 FHR H 0TS I
¢ foms simla fawedt o, o a1 wwpfa @ fawaia
g foan o 21 3 ol & ufed & Siee
Yo fha I 21 39 YER & A § yuddl @y ENES)

sfeorfl s el el B e Ud sEeidd B | ooyt q T

& Y9 F 2

=

—
4 .E.’.-E.'—.?-.'.—:-.-'.—.‘.—.‘.—'.:?:-:E.




Hypothesis testing which results into either
affirmation or disaffirmation is the explicit
concern in which methods of research?

gfteheaar aiteror foaent ufturfa o ar sfagfe
o srafe & W F A &, v @ Prefera

T fora fafarat o1 @y J0er &2

(A) Descriptive method/faavuneaer fafer

(B) Experimental method/FaTTeqeh fafer

(C) Ex post Facto method/&Tar=T fafer

(D) Historical method/Ufagriaes fafir

(E) Exegetical method/&aTaaTedah fafer

Choose the correct answer from the options
given below :

Frar fau o faweat @ ¥ W W @ w=A
i |

(a) (A) and (B)/ (A) 3R (B)

(b) (B)and (C)/ (B) 3R (C)

(c) (C) and (D)/(C) FR (D)

(d) (D)and (E)/ (D) 3R (E)




Hypothesis testing which results into either
affirmation or disaffirmation is the explicit
concern in which methods of research?

ufteeat gfteror famant afturfa o &t aifigfe
ar YfE & ®Y H g ¢, I i Fferiad §
¥ fo faftrat e W wer 72

(A) Descriptive method/faavurenas fafir

(B) Experimental method/S&rTIeHa, fafer

(C) Ex post Facto method/@Tat= fafir

(D) Historical method/UfergTiaes fafir

(E) Exegetical method/aaTaaTeda: fafir

Choose the correct answer from the options
given below :

e feu 7o faweut ¥ ¥ WE I @ WA
FHif - |

(a) (A) and (B)/ (A) 31X (B)

(b) (B) and (C)/ (B) 31 (C)

(¢) (C) and (D)/(C) 3R (D)

(d) (D) and (E)/ (D) 3R (E)

Ans. (b) : IReEeaT qleor fSme ofofa ar @ sfugfe
a1 37YfE & w9 H A 2, WY F S T T G
G2l (FErR fafY) & @y SUar 21

QORI YNEr:- 39 Y § = & 20 &, I &l
frafaa s, aREear & Areaw 9 fased vd gmr=diaor
fepar T 21

TS U Uaet:- 97 VY "l ufed @ & IWid g
§ @ o 21 39 Y9 FRuT Wy off #ed &1 39d
qraYTaTE HROT 1 37494 fHa1 S 2




Match List I with List Il. List I gives steps of (C) | Selecting a | (III) | Raising
research. while List Il provides te.chniques used. sampling pivotal
;:::sl‘/) :F‘F‘" ‘IF:L_I:;I- ]lll procedure i('l'uﬁ;ﬁon in z}
;S;&_l{l:rh [oTrer :‘::hniques 5 m’”'” hit - el::‘q“iry/?ria‘o
i arard T % & ¥ g
qeh-Teh LLEIECIE]]
(A) | Problem (D Tabular and (D) | Data Analysis | (IV) | Setting  up
e N | elaonsi
fremToT ofpdatalail'ian?ﬁ fergereraT S
-~ . variables  of
it N resear.ch/?hu
b % it & dr
Hay
(B) | Hypothesis (1) Drawing a AT
— e ot | (@ (), (B){1V), (©) -1, (D))
geexr we w | (b) (A)-(0),B)- (), (C)- (), ([D)- (V)
gaat @ | () (A)A(ID), (B) (), (C) (1), (D) -(IV)
=T (d) (A) (D), (B) (1), (C) (11, (D) «IV)




Statement (1) : There is no difference between
format and styles of writing and referencing in
a thesis and a research article.

Statement (II) : Research ethics and its
observance is mandatory for all researches.

HAT (1) : Ush INT-PaeT 3T INT- H @
3T deuda & Wwa 3 It o o= ahig 3iav
=@l Brar g

HAT (1) : v Haeft Afaesar 3w @
srguTer Tt vire & fer srfare #)

In the light of the above statements, choose the
correct answer from the options given below:

IUATh hd oh ATeres O, Hr=r feu 1o faaeat

o O W& ST &l 999 SRiIfeU:

(a) Both Statement (I) and Statement (II) are true/
AT (1) 3 (11) a1 9T 21

(b) Both Statement (I) and Statement (II) are
false/ HA=T (1) 3 (I1) 24T 3A9F 2|

(c) Statement (I) 1s true but Statement (II) 1s
false/ FIT (1) T 2, AfHa HA9 (11) 379 2|

(d) Statement (I) 1s fal§e but Statement (II) \is
true/ G (1) 39T 2, ofehd H99 (1) TH 2|




Statement (I) : There is no difference between
format and styles of writing and referencing in
a thesis and a research article.

Statement (II) Research ethics and its
observance is mandatory for all researches.

&HAT (1) : Ueh JIEl-Yaier 31T Ier-ust § ora=
3iT HevT & wWEa i deft & e WS st
=&t grar g

wmaT (1) : virar Hadt Afaerar i s@aT
aruTe Tt e &k ferg srfare 2

In the light of the above statements, choose the
correct answer from the options given below:

IUh HAT oh Telas |, Her fau o faemeat

o o | ST &l J9F SITAu:

(a) Both Statement (I) and Statement (II) are true/
Fa9 (1) 3R (1) S 9T 2|

(b) Both Statement (I) and Statement (II) are
false/ HI= (1) 3R (I1) a1 379 |

(c) Statement (I) 1s true but Statement (II) 1s
false/ H99 (1) TcF &, WAfhd H99 (1) 39T 2|

(d) Statement (I) is fal§e but Statement (II) \is
true/ H99 (1) 379 &, <fehd &9 (1) I 2|

Ans.(d):ﬁﬁﬁ?ﬁﬂﬁmmﬁﬁﬂa@?%ﬁ@h%@
{761 YR @ Gela wRa WA & S ¢ o
fr-fir 2t €1 2 @9 =ra T d v, v, w6 @
™ 2

vy srarEfEd, sEuE s Tl & o @ o
70 9 &1 Aniey Fr ¢ {6 ayfae 7lid ¥ fF R
Wy fFm 9@ 7 rendRa wft wmy &@d § fou
Hiaard 2t 2




Given below are two statements : One i§
labelled as Assertion (A) and the other is
labelled as Reason (R).

fo o waw for w § : wE afimew
(Assertion A) & wU U fofige ¢ af gor 3k
T (Reason R)ai ®TOY :

Assertion (A): A research hypothesis (H1), has
to be tested with the help of a Null hypothesis
called (H0).

Reasons (R) : Tenability of research hypothesis
(H1) cannot be directly affirmed.

afamaT (A) : feddt v ufigewsn (H,) &
forretufter wfteheaT (H,) &t Wgraar |/ wdien
feran s U

T (R) : YT URHeTAT (H,) ST dehuie anl
ity Hier v @ 77 T wwA ¢l

(a) Both (A) and (R) are correct and (R) 1s thf{
correct explanation of (A)/(A) N (R) gl

el € A (R), (A) 3 WE A 2|
(b) Both (A) and (R) are correct but (R) ig NOT
the correct explanation of (A) /(A) 3R (R)

il T €, i (A), (R) # TE == T 2
(¢) (A)1s correct but (R) 1s not correct

(A) Tt 2, @fe (R) Tt 7 2
(d) A) 1s not correct but (R) 1s correct

(A) T T 2, @fe (R) T2 2
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Every year Press Council of India celebrates
the National Press-Day on :

WA Y ufee e av e W feam
frforiiga ® | form fafer it waman 87

(a) January 30/30 S

b) May 30/30 ¥

)
¢) 15 October/15 st
)

(
(
(d) 15 November/15 #d%i




Every year Press Council of India celebrates
the National Press-Day on :

TRt W ufive yee ad e aw feaw
faafafiaa o 9 form fafar &t wamar 82

(a) January 30/30 SHadl

(b) May 30/30 Wg

(c) 15 October/15 3TdeaX
(d) 15 November/15 dd%{

Ans.(*):NTAﬁWW&ﬁWﬁWT@T?I
IRAE 59 oRee y&d ¥ T8 39 feaw 16 o @
T 81 e @ 6 aRdig 3 uftve (3 s gfean)
A 16 T & fod & 0 Y& foar o1 gafere 9w |

" || Easy Notes 4u ! —
Online Study * -
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g ay 16 FaER & T 9 fegg wawEr s 2|
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Which Newspaper logo bears "Let Truth
prevail" ?

f0 QU @ Y- (@) "Let
Truth prevail" €7

(a) The Statesman/f} RewH

(b) Times of India/2H 3G 3fear

(¢) The Tribune/f3 W

(d) The Hindu/@ &=




Which Newspaper logo bears "Let Truth| [Ans. (b) :2w 5 &fvea & SR v & @ "L
pl’t‘\’ﬂil" ) truth Prevail" 8| qd Fé‘:[ g @a:liﬁ I 3R T
5 Fmd @@l 9 31 39 W {6 @ 1838 o

fF TR & Fde-fog () "Let| | |
ufselt vrRa & ffew Fafeal & @@ & fou @t w8
Truth prevail" §? O § 7 Wefies &9 § & aR SV gaMl 1851 H
. * &f o T A 1861 H SHH AW TG & T A

(a) The Statesman/fe ©ZHH e ¢ o T

(b) Times of India/T5% 3% 3fea
(c) The Tribune/3 fée7
(d) The Hindu/3 fé=

) ..==—_—_—_-‘>$
S




o0 @ @ for w0 § o we afieem
(Assertion A) & ®U ¥ foifiga § a1 TO0 W
@TTUT (Reason R)%m T

Assertion (A): The more performative
broadcast is also more cohesive and popular,
but owing to new media its effect is decreasing.

Reasons (R) : Internet is tending to eclipse
broadcast media.

AHIT (A) : A& FEANU (FEERE)
ST i SR S A A g,
g 7 wifean 3 awE ¥ J6a Y e T ¢
&AW (R) ; FeHE YR (digane ) difgar w
AR B i A Y g

IR HI & e §, e faw T fame

W W HEH IUYTH I H AT BT :

(a) Both (A) and (R) are correct and (R) 1s the
correct explanation of (A) /(A) 3 (R) i
T 2 3 (A), (R) ¥ T8 e 2|

(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A) / (A) 3R (R)

aHi TE 2 3R (R), (A) 3 T8 AR 7@ 21
(¢) (A)1s correct but (R) 1s not correct
(A) &l 2, dfdA (R) &1 &l 2|

(d) (A)1s not correct but (R) is correct

(A) T & 2, «f (R) 98 21




o @ & for o : ww afiEem
(Assertion A) & ®U ¥ foifiga § a1 TO0 W
T (Reason R)%mﬁ :

Assertion (A): The more performative
broadcast is also more cohesive and popular,
but owing to new media its effect is decreasing.

Reasons (R) : Internet is tending to eclipse
broadcast media.

AHIT (A) : fUE TERW (FEER)
TG e TfHiTer 3 A g &,
g 7 wifean 3 awE ¥ J6a Y e T ¢
@I (R) : FeTHE JOWW ( Siegane ) wifear W
AR B T 3 g ¢

IUITR AT & 3Tt o, Hrer faw o fareneat

T ¥ 9ad 3IUgh 3T Sl 9a9 @I :

(a) Both (A) and (R) are correct and (R) i1s the
correct explanatlon of (A) /(A) 3T (R) a1
e 2 3R (A), (R) & T& =T 21

(b) Both (A) and (R) are correct but (R) 1s NOT
the correct explanation of (A) / (A) 31 (R)

T & @ 3 (R), (A) FT T =aear a1 2|
(c) (A)1s correct but (R) 1s not correct
(A) T 2, dfa (R) T 71 2|

(d) (A) 1s not correct but (R) i1s correct

(A) T& T 2, dfea (R) T&t 21

Ans. (a) :

FROT AT TF E a9 (A) AFT H T
(R) & 21 i

AfuFyT g9 2 FHifs s Far s
Hafteiiar ©d dwE g @ Wy A% Hifew & ase |
TS Y9G 92 @1 81 4 #ifew F siadda OTT 994,
g2 99, W difedr anfe 3md &1 3w aﬁrﬁmm
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For emerging field of mass communication
researcher Paul Lazarsfeld proved to be
seminal thinker and researcher in what way?

TAEOR % IWT &F g INHEWl Ui

AAHGCE R YER ¥ T Wifvas foaa @

vitergRat aferd gu?

(A) For exploring the potential of Social
Science methods./AmaTtoe fagm fafmat
@l AT TS & o ferm

(B) For providing training with a high level of
entreprencurial skill./3%a wWi{tg IEfiar

HIYTA ok T FITRTT < o ferm

(C) For raising the standard of American

Education System./3Tof@T et forem yorreht
&1 T agH & form

(D) For making assumptions that media have

limited direct effect./T§ LU T & fea
fe whfear @ yeaer gwra wHifta e &)

Choose the most appropriate answer from the
options given below :

e fet o faweul & ¥ wad IUYTH I &I
G ShIfaAul

(a) (A) and (B) only/ao_cl?'f (A) 3 (B)

(b) (B) and (C) only/ ad (B) 3R (C)

(¢) (C)and (D) only/ &ad (C) 31 (D)

(d) (A) and (D) only/ dad (A) 3R (D)




From the list given below, identify the' Ch?ose t!le most appropriate answer from the
, _ o options given below :

Psychological barriers to communication F3 fer T faeedt § ¥ wh S @ WA

ot & W w0 W T @ s @i

aTee it et st (3) (A), (B) and (C) only/ T (4), (B) ¥ (C)
_ (b) (B), (C) and (D) only/ & (B), (C) 3 (D)

(4 Noise TR (¢) (C), (D) and (E) only/3a (C), (D) 3 (E)

(B) Invisibility/3T§yereT (d) (A), (C) and (D) only/&@e (A), (C) 3 (D)

(C) Prejudice/TaTwg

(D) Disinterest /31T

(E) Inattention/EAT T 4 ﬂ?[




The average monthly expenditure of a family
was Rs. 4,000/- for the first 3 months; Rs.
4,500/- for the next 4 months and Rs. 5,000/- for
the last S months of a year. If the total saving
during the year was Rs. 5,000, find the average
monthly income of the family.

T o ¥ N U uﬁar{ &1 3ftaa s
=T AW 3 WEAT W 4000 HUH, I A 4
WEAT | 4500 w30 3ifaw 5wt #5000
wUF oT Afe 3T 99 & SN &l a=d 5000
g oft Ot 3w g & 3fEa o 3
ferat ofi?

(a) Rs. 3.000/-/3.000/-%98

(b) Rs. 4.000/-/4,000/-%94

(¢) Rs. 5.000/-/5.000/-%9%

(d) Rs. 6,000/-/6,000/-%9%




The average monthly expenditure of a family
was Rs. 4,000/- for the first 3 months; Rs.
4,500/- for the next 4 months and Rs. 5,000/- for
the last S months of a year. If the total saving
during the year was Rs. 5,000, find the average
monthly income of the family.

& o & N uﬁaﬂ &1 3fraa wrfae
T GAW 3 WEAT W 4000 FUA, SHHR 3TA 4
e ® 4500 vud 3w 3ifaw 5 wEEr 7 5000
wOY o Afe W a9 & I &S aud 5000
o off 9 39 uflar &t 3f\a wifde ™
farat ofi?

(a) Rs. 3,000/-/3,000/-¥93

(b) Rs. 4,000/-/4,000/-%94

(¢) Rs. 5,000/-/5,000/-¥9%

(d) Rs. 6,000/-/6,000/-%9%

Ans. (¢) : 599 3 TR H 3fd aFd= 4000

Fd &9 T = 4000%3 =T12000
a5 & 4 WR § 3 o1 = T4500
Fd 9 T = 4500x4 =T18000
WA & 5 MR # 3G 14 = T5000
F1 4 T = 5000x5 = T25000
T a8 7 TR = (12000+18000+25000)

= 355000
T g & a9d TR = T5000
F 3 = (55000+5000)

=360,000
60000

3gd Wi 31 = T=?5000

T =
= = > =
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Find the average of all prime numbers between
70t0 90

70 % 90 & dter it weft T wEmel e
3l -

(a) 76.5 (b) 98.25

(c) 55.75 (d) 56.75




Find the average of all prime numbers between | |Ans. (*): 70 % 90 % w7 5 &5 e a1 s
70 to 90 71473479483 +89

0" 90 & ot @ woft s wEmen @ s

(a) 76.5 (b) 98.25 =7;

(¢) 35.75 (d) 56.75 A2~ A 50 36 $ 1 GedeA T A R

o~ 0

- @ ?}J u Emg
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By selling 33 litres of milk, one gains the selling
price of [1 litres, Find the gain in percentage:

g W 33 et QU & W 11 et gy
% o U7 & T @ 9 & g
(a) 25% (b) 50%
(¢) 70% (d) 80%




By selling 33 litres of milk, one gains the selling
price of 11 litres, Find the gain in percentage:

I3 Wh 33 T Q¥ o W 11 et gy
CCED R ol r Gl i
(a) 25% (b) 50%
(¢) 70% (d) 80%

Ans, (b) : AIFT 33 ©fieX 34 & F7 [ed =3 x
aar fd cfiex 3y & fawrg 7o =

33 it 3y 1 fashd 7ed =333

=311

M = fasa [ - F9 [

11=33-x

x =%22

G111 R R G =;—;x100=50%

o~ 0

T L=y g
" || Easy Notes 4u ! —
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If the cost price is 93% of the selling price, then
what s the profit in percentage?

iz it 7 1 7R 0 0 o U
& 95% & 7 7 @ o & ¢!

(a) 4.26% (b) 3.26%
(c) Y% (d) 7.2%




Ifthe cost price is 9% of the selling price, then —(Ans. (b): 1 3 & [ 7 =100
what is the profit in percentage T =393

e falt o a1 R W I fow (7= 10095+

1 95% & 7 & o @ ¢ W:Q—SS-xloozs.zﬁ%

1) 4.26% (b) 3.26%

0) Y% (d) 7.2%




If someone sells an item at a cost of Rs. 1,200/-:
with a loss of 25%, at what cost she/he should
have sold it to get a profit of 30%?

afe @1 ik Tt O @l 25% Wiave @l
i & 3/ 1200/ 50§ a=qr § A 0% F;
T FHA & FoTT 38 30 g ot Torm vl
o< WEU o’

(a) Rs. 1,600/-/ 1,600/-F7

(b) Rs. 2,000/-/2,000/-+7
(c) Rs. 2,080/-/2,080/-%7
(d) Rs. 1,560/-/1,560/-57




If someone sells an item at a cost of Rs. 1,200/;
with a loss of 25%, at what cost she/he should
have sold it to get a profit of 30%?

afe &g A et awg @ 25% Yiew @
" I 1200/- B0 W arwe g A 0% &
W HAH o foft 38 3 o] I ferm v W
oo Wt o’

() Rs. 1,600~/ 1,600/-5%

(b) Rs. 2,000/-/2,000/-7
(c) Rs. 2,080/-/2,080/-F7
(d) Rs. 1,560/-/1,560/-F7

Ans. (¢): 39 & 8K,

a5 & fasha gea=31200
g1 = 25%
(100
'ﬂ)_q =
o L 100 - 2%
(
hd Jod = MXIZOOJ
\ 75
5 g =Z1600

foﬁmw

ol W & IR,

o = 30%
EERRICES,

ﬁmg?kmqax[

IOO+Fﬂ‘q%)
100

ﬁaa'mlw:léoox(mmm]
100
fasha 7ea = 2080




Which one of the following sources of
knowledge (pramana) in classical Indian
Philosophy is based on similarity of the
unobserved object with a known object?

U WS S99Te | WHT el ﬁh:r%rf@a U
q F-T1 H atg @t ferelt T O &
WY AT W e 87

(a) Arthapatti/31rafd

(b) Anumana/3{H

(¢c) Upamana/39HT4
(d)

d) Unuplabdhi/3raeiey




Which one of the following sources of
knowledge (pramana) in classical Indian
Philosophy is based on similarity of the
unobserved object with a known object?

mmﬁumﬁmmﬁnﬁr@aﬁ
R BT H I g 9 e 9 7 &
WY HHAT W e 87

() Arthapatti/3raf

(b) Anumana/3H
(¢) Upamana/39HH

(d) Unuplabdhi/3raeiied

Ans, (0) m‘fw@wmaﬂwm
T 3 3 ¢ 3 99 ¢ 9% e T & 9 A
¢ fifl & T 3 O @ 9 A A 2 ¢

7 3 04 ¢ % A g




What is the correct sequence of steps in case of
inference according to Indian Logic?

TR ThYTE & 3TTER A & A |
SUT T Tel hE oI 87

(A) Statement of similaritv/applicability of the
example to case in consideration

(upanaya) faemd fawar | semor @t
[T /FATIdT &1 &9 (309

(B) Statement of Reason (hetu)
T T &I ()

(C) Affirmation of the thesis as proved
(nigmana)/3Tfiremun @t fagt & wu ¥ gy
()

(D) Statement of thesis (Pratijia)

AT &Rt e ( W7 )

(E) Giving an example of the underlying rule

(udaharana)/fAfga fam @ IS0 <=0
( 3TEAT)

Choose the correct answer from the options
given below :

Hror fou o fawent § @ WE IW @ WA
HITWT :

a
b
C
d

— "
— — p— p—
o O O O
— — vt
I T T D |
A —  — A —
oo ) m
e
L I R T R |
— — — p—
> M oo >
*-_-f"-—-’\-_-r\-_-r
P — —  p—
o > > O
h——"-—-f-.._.rv
P — A, p—
— S "

( ,(B
( (E
( AC
( 5 L6




What is the correct sequence of steps in case of
inference according to Indian Logic?

TR ThYTE & 3TTER A & A |
SUT T Tel hE oI 87

(A) Statement of similarity/applicability of the
example to case in consideration

(upanaya) faemd fawar | semor @t
[T /FATIdT &1 &9 (309
(B) Statement of Reason (hetu)

T T &I ()

(C) Affirmation of the thesis as proved
(nigmana)/3Tfiremun @t fagt & wu ¥ gy

(A=)

(D) Statement of thesis (Pratijia)
AFEIUTT T &/ ( Wiersr )

(E) Giving an example of the underlying rule

(udaharana)/fAfga fam @ IS0 <=0
( 3TEAT)

Choose the correct answer from the options
given below :

Hror fou o fawent § @ WE IW @ WA
HITWT :

(i) SR FHT HIH ()

(ii) BT & F4 ()

(iif) fAfee ol a1 3rRoT 3 (32ToT)
(iv) faemod fawg @ e & quHd/YISId & HAA
(3779)

(v) sferen & fafg & &9 # gy (fm)




Which of the following schools of Classical
Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?

Uel WA SIS &l hiF-TT e e
WHTUT SRl 3TTHT o 3iaTid A=ar g7

(A) Nayaya/=4d

(B) Vaisesikas/avif¥e

(C) Buddhists/atg

(D) Mimamsa/HSTH74T

(E) Charvaka/Lokayata/@Taid/ clehad

Choose the correct answer from the options
given below :

(a) (B) and (C) only/aw_cl?'r (B) HR (C)

(b) (B), C) and (E) only/ &aa (B), C) 3R (E)
(¢) (B) and (E) only/ &dd (B) 3R (E)

(d) (A), (D) and (E) only/ &dd (A), (D) 3R (E)




Which of the following schools of Classical
Indian Philosophy reduce Sabda pramana
(verbal authority) to inference?

Ue WA YT @l hia-T1 AWeY Ve
WUTUT SRt 3WH o 3feRTd Wl 7

(A) Nayaya/=1q

(B) Vaisesikas/afie

(C) Buddhists/aTg

(D) Mimamsa/SM7d1

(E) CharvakafLokayata/tlldfch/cﬂcblem

Choose the correct answer from the options

given below :
(a) (B) and (C) only/&ad (B) R (C)
) (B),C)and (E only/é'ﬂ'ﬁ C)aﬁI (E)

(b) (
(¢) (B)and (E) only/ aa‘clﬁ aﬁl (E)
) (

(d) (A), (D)and (E only/aﬁa A). (D) ) 3 (E)

Ans. (a) : T0 A G & Ui A0 dlg T
F & ST A €1 A T 2 e
T 30 1 W YAV 3 T 9 el ¢ A
o 8 S 3
3 3% 4§ Fed 9 3 % A 2| AR % A

VI JH
T T AN 8 {6 S W

7 Wi | T & VAW 3 g ¢- P 9N g

A —— e
:) —-—_—_———_:—_—
=\

" || Easy Notes 4u
Online Study

— -
= =
- }J I
A
. A
= q




Given below are two statements
rer 3t e fou o §;

Statement (I) : According to classical Indian
Logic the psychological sequence also
corresponds to the logical sequence.

Statement  (11) The logical structure
represents not how we ought to infer, but how,
as a matter of fact, we do infer,

& () : TA WNAG TN & SIEN
YA, %W difchas W & Ha oft g 21
U (II) ; icher AT I ol aaret § fes
7 {0 Yam ¥ SUR T iRy et
aA: TE Tt 1 Toh FW W WA A §)

In the light of the above statements, choose the

correct answer from the options given below:

(A) Both Statement (I) and Statement (II) are
true/&AT (1) 3T (1) =T T &

(B) Both Statement (I) and Statement (II) are
false/@e= (1) 3T (11) AT 31T B

(C) Statement (I) is true but Statement (II) is
false/®aT (I) T ¢, &AT (1)

A g

(D) Statement (I) is false but Statement (II) is
true/&HAT (1) 3THA §, AT HAT (11) T B

IUTH HAT & Aol |, Hrer fau o faweat

o ¥ WE 3T T A RITAT:
(a) 1 (b) 2
(c) 3 (d) 4




: In the light of the above statements, choose the
leen belﬂw are two statements correct answer from the options given below:

:ﬁaaﬁmﬁqmg (A) Both Statement (I) and St?tement (I1) are

true/&RA= (1) 3T (11) ST T Bl
Statement (I) : According to classical Indian  (B) Both Statement (I) and Statement (II) are

. : false/@her (1) 31T (11) 4T 31T 21
Lﬂglc the pSyChO!ﬂglcal Sequence 3150 (C) Statement (I) is true but Statement (II) is
corresponds to the logical sequence. false/®a=T (1) ¥ &, AfeRT wa=T (1)

. : 37T B
Statemeﬂt (") G The loglcal Strucmre (D) Statement (1) is false but Statement (II) is

represents not how we ought to infer, but how, true/&H (1) SE &, AfhT Ha (1) T 81
as a matter of fact, we do infer. IUITh ®HAS & e |, e fa T frmwedt
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An IT company has recently produced a new
laptop model that uses less power, is smaller in
size and weights less than previous laptop
models.

The technology that has been used to
accomplish this, is:
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(a) Faster/TR (f3) W

(b) Blue-Ray Drive/s-{-g7gd

(c) Solid State Hard Drive/Sifcre w7 e olkd
(d) LCD Technology/Terdie! ZaHraiiat




An IT company has recently produced a new
laptop model that uses less power, is smaller in
size and weights less than previous laptop
models.

The technology that has been used to
accomplish this, is:
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(a) Faster/®T (F7) W

(b) Blue-Ray Drive/sq-{-g%a

(c) Solid State Hard Drive/Sifere e e slgd
(d) LCD Technology/Tediel STt
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Assertion  (A):  Every  general-purpose
computer must have an Operating System (OS)
installed on it.

Reasons (R): Man and Computer cannot
communicate directly.

In the light of the above statements, choose the
correct answer from the options given below

fer @ @R for m § uwm e
(Assertion A) & %0 W foifiga § @ TOT Ik
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(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) N (R) e
g7 8 3 (R). (A) 3 T e 2

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3 (R) e
a4 2, el (R), (A) 3 98 e 7 2

(c) (A)1strue but (R) 1s false
(A) ¥ 2, Wi (R) 39 2|

(d) (A)1s false but(R) 1S true
(A) 394 8, oifed (R) ¥ 2|
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Assertion  (A):  Every  general-purpose
computer must have an Operating System (OS)
installed on it.

Reasons (R): Man and Computer cannot
communicate directly.

In the light of the above statements, choose the
correct answer from the options given below
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(Assertion A) & % W ferftge ¢ @ g0 30k
@IUT (Reason R)%Wﬁ:

AHAT (A): TS WA YT wroget o
TE TRET fivew smavas w0 W weend
BT =TT

@A (R): TS 3 et oty i W¥ 3w
U WaTg TR kel |

JWIh HUA & anenas |, e fou mu fyemeat
T o W I A AT Al

(a) Both (A) and (R) are true and (R) 1s the
correct explanation of (A)/(A) 3 (R) i
T g 3R (R), (A) FT T&l =AW= 2|

(b) Both (A) and (R) are true but (R) 1s NOT the
correct explanation of (A)/(A) 3R (R) |
g €, dfdd (R), (A) & T8 =men 78 21

(c) (A) 1s true but (R) 1s false
(A) 9 2, dfe (R) 319 2|

(d) (A) 1s false but (R) 1s true
(A) 319 2, dfFd (R) 99 21
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Identify the correct order of the following
storage capacities ranked from largest to

smallest capacity/ wad G| o wad &
& w0 U fefafad ©RS amareti & 9@ &y
@i UgeT shifaul

(A) 15000 M Bytes

(B) S K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option
given below:

Hfrer fau U faeeat @ ¥ WE I @ wEA
CAlE LY

(a) (D), (A), (C),(B)  (b) (A), (D), (C), (B)
(¢) (A), (B),(C), (D) (d) (D), (C),(A), (B)




Identify the correct order of the following
storage capacities ranked from lar est to

smallest capacity/ waH CE] ¥ wad
'%imxﬁfmﬂﬁﬁaataﬁﬂ&mmwﬁ%auﬁimx
@i Tga it

(A) 15000 M Bytes

(B) 5 K Bytes

(C) 1 G Bytes

(D) 2 T Bytes

Choose the correct answer from the option
given below:

1ﬁﬁwwmﬁﬁﬁﬁhmmam
CAIE LY

(a) (D), (A),(C),(B)  (b) (A),(D),(C),(B)
(c) (A),(B),(C),(D) (d) (D),(C),(A),(B)

. Ans.(a):ﬂaﬁa@ﬁ TaH 3R & 9 W RN A

T -
(1) 2 T Bytes

(11) 1 G Bytes
(111) 1500 m Bytes
(1v) S K Bytes
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